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function get k(T, k):
left cnt = Count(Left (T ))
if k == left cnt + 1
return T
else if k <= left cnt
return get k(Left (T ) , k)
else
return get k(Right (T ) , k − left cnt− 1) 1



.AV L ur ly zelert mirvan xy`k Count (T ) z` ok
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zfexgn ly dqpkd 3 mzixebl`
insert(s, n, T ):
if n == 0
valid(T)=1;
return;
else if s[0]==0
next=Left(T)
if next=null
Left(T)=new node
insert(s+ 1, n− 1, Left(T ))
else //s[0] == 1
Next = Right(T )
if Next == null
Right(T )=new node;
insert(s+ 1, n− 1, Right (T ))

return; :`id k jxe`a zfexgn xear zeikeaiq
Tinsert (k) = O (1) + Tinsert (k − 1) = O (k).zial libxz - d`vede yetigmipeinlibxz:zebef ly dniyx dpezp

(a1, b1) , ..., (an, bn).d`hl ly dxihte d
il jix`z mipiivn bne an xy`k.zipnf ea eigy ze`hl ly ilniqwnd 'qnd dn zr
l mivexoexzt:mixtqnd zniyx z` oiinp :oeirxd
a1, b1, a2, b2 .hrnk:mixtqn bef xi
bp ai, bi bef lkl - zilnxet

(ai, 1) , (bi, −1) .{(xi, yi)} zebef 2n ly dniyx eplaiw.O (2n log (2n)) = O (n logn) ly zelra - dpey`xd dhpi
xe`ewd itl oiinp:`ad ote`a zpiiennd dniyxd lr xearp zrklibxzd oexztl zpiennd dniyxd lr xarn 4 mzixebl`
max = 0
count = 0
for (xi, yi) in sorted list
count += yi;
max = max(max, count)
return max
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libxzze`hl dnk aeyige d`hl ly d`ved\zqpkd xyt`ny mipezp dpan erivd m
ewd libxzd ly zegpda.ze`hld 'qn = n xy`k O (logn)a mieqn onfa eigoexzt.m
ew libxzn znev lk ly mi`v`vd 'qn z` mixney eay ura ynzyp:dl`k mivr ipy wifgpze
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Tbirth.Insert (ai)
Tdeath.Insert (bi).d`vedl l"pkef` ,znev lkl yi mi`v`v dnk mixney ep`e zeid .mivrdn 
g` lka eze` ytgp ,t mieqn onf ozpida.bid zniyxe miaid zniyxa t ly enewin z` oiadl xyt` yetigd i
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= Θ (n) .Θ(n) `id zelrd k"dq okl(zizexazqd dqxb - Select mzixebl` ) libxz.O (n)a eze` e`vn .el
eba kd xai`d z` mivex .n jxe`a dnyx dpezpoexzt

Quick Sort lr div`ixe - oexzt 6 mzixebl`.xai` eze` itl dniyxd z` milvtne i`xw` xai` mixgea - Quick Sorta enk ligzp:rvap ,zeiaiqxewx ze`ixw 2 rval mewna
if length(L1)+1==k
return x
else if length(L1) ≥ k

return Select(L1, k)
else
return Select(L2, k − length (L1)− 1)
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